
25 m      =       ..............     dm 10 m      =       ..............     dm

5 dm      =       ..............     m 50 dm      =       ..............     m

6,96 m      =       ..............     dm 2 m      =       ..............     dm

17,2 dm      =       ..............     m 7 dm      =       ..............     m

5,1 m      =       ..............     dm 17 m      =       ..............     dm

1,4 m      =       ..............     dm 3 m      =       ..............     dm

94 m      =       ..............     dm 54 m      =       ..............     dm

6,2 m      =       ..............     dm 2 dm      =       ..............     m

5,52 m      =       ..............     dm 9 m      =       ..............     dm

2 dm      =       ..............     m 12 m      =       ..............     dm

0,11 dm      =       ..............     m 18,51 m      =       ..............     dm

25,93 dm      =       ..............     m 90 dm      =       ..............     m

9,2 dm      =       ..............     m 71 m      =       ..............     dm

37,4 dm      =       ..............     m 3,06 m      =       ..............     dm

56,5 dm      =       ..............     m 5,5 m      =       ..............     dm



25 m      =     250 dm 10 m      =     100 dm

5 dm      =     0,5 m 50 dm      =     5 m

6,96 m      =     69,6 dm 2 m      =     20 dm

17,2 dm      =     1,72 m 7 dm      =     0,7 m

5,1 m      =     51 dm 17 m      =     170 dm

1,4 m      =     14 dm 3 m      =     30 dm

94 m      =     940 dm 54 m      =     540 dm

6,2 m      =     62 dm 2 dm      =     0,2 m

5,52 m      =     55,2 dm 9 m      =     90 dm

2 dm      =     0,2 m 12 m      =     120 dm

0,11 dm      =     0,011 m 18,51 m      =     185,1 dm

25,93 dm      =     2,593 m 90 dm      =     9 m

9,2 dm      =     0,92 m 71 m      =     710 dm

37,4 dm      =     3,74 m 3,06 m      =     30,6 dm

56,5 dm      =     5,65 m 5,5 m      =     55 dm


